SmallRig

SmallRyg

Cage for FUJIFILM X-H2 7/ X-H2S
EIX-H2/ X-H2S SINREIRRIE

Operating Instruction / #2{E353|




- Thank you for purchasing SmallRig's product
JEEHERIBSE SmallRig =@,

- Please read this Operating Instruction carefully.
{ERAF Rz, BFANERIFES].

- Please follow the safety warnings

BEREE SRS REERRFRESINREES.

Product Details / =@

@ 1/4'-20 Threaded Hole ® Strap Slot
1/4"-20 8843, B/ EEn

@ 3/8"-16 Threaded Hole @ QD Socket
3/8"-16 BLHFL QD #0

@ 1/4'-20 Locating Hole H21 NATO Rail
1/4"-20 FEAIFL H21 /8%

@ ARRI 3/8"-16 Locating Hole ® H18 Cold Shoe Mount
BIE(ARRI) FEALFL H18 & ¥L

(® H38 Arca-Swiss Quick Release Plate @ Dual-Head Wrench

BRAFFT-R ARG PRI WELIRF




In the Box / B335

Cage x 1
ARIE

HDMI Cable Clamp x1
HDMI 43

Operating Instruction x1
#IF1ESI

Guarantee Card x 1
REF

Cage Installation / {EBIER KL B

1. Before installation, please use the Dual-Head Wrench to remove the
side lock adapters on both sides of the cage first.

ZIRAD, EEERYCARTF, M NAREMMEMER,




2. Put the camera into the cage from back to the front, and then secure the
cage use the Dual-Head Wrench to tighten the 1/4"-20 screw at the base.
BN EERTAEIARIE, B BICLIRFITRRER1/4"-20 1842,
HREERRIE.

3. Secure the cage and camera strap slots by tightening two locating blocks
on the sides of the cage.
BERNERER, SIZEERREMBINBHE,

* The package does not
include the camera.

*ENNEF S8




HDMI Cable Clamp Installation / HDMIZ% £ &3

1. Insert the HDMI cable; Secure the cable clamp and HDMI cable by
tightening the 1/4"-20 screw.
FEAHDMIZ, @I R1/4"-20 8822, SREIELRFHDMIZSL,

* The package does not include the camera.
*ENNSESR N

Specifications / FFREE

Product Dimensions 59 x27 x 42in

FERRY 150.5 x 68.0 x 107.2mm

Product Weight 63+0.20z

FRER 1780 +5.0g

Material (s) Aluminum Alloy

EEMR BEE

Compatibility FUJIFILM X-H2, FUJIFILM X-H2S
Eet EEX-H2, BEX-H2S

* Specifications subject to change without prior notice. Please refer to the physical product
for the most up-to-date information

BABYINERE, USSR, BABITIE.




Manufacturer: Shenzhen Leqi Innovation Co., Ltd.
Add: Rooms 103, 501 and 601, Building 5, Fenghe Industrial Park, Nos. 1301-50 Guanguang
Road, Longhua District, Shenzhen, Guangdong, China.

ISR
it PESR BT XMEEE 1301-50 SEFTULE 5 51K
103, 501. 601

Consignor. Shenzhen LC Co., Ltd.
Add: Rooms 602, Building 5, Fenghe Industrial Park, No. 1301-50 Guanguang Road, Xinlan
Community, Guanlan Street, Longhua District, Shenzhen, Guangdong, China.

18 RIHREREARAT
Hodik: PESRERYIHRERI WA EKILER 1301-50 SFA TR/ 5 5 # 602

HATARAE: GB/T 26572-2011 LQ-P1388-18

GIAE-LTA CEH O

Séparez les éléments avant de trier

RoHS £




